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Question 1
Question Type: MultipleChoice

When working with MV Sense APLS , upon which type of protocol is MQTT based?

Options:
A- publish-subscribe messaging
B- simple mail transport
C- heavyweight messaging
D- computer vision

Answer:
A

Question 2
Question Type: DragDrop

Refer to the exhibit. Drag and drop the code from the bottom onto the box where the code is
missing to complete the ncclient request that captures the operational data of the interfaces of a
Cisco IOS XE device. Options may be used once, more than once, or not at all.
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Answer:
See the Answer in the Premium Version!

Question 3
Question Type: MultipleChoice

Which solution is used for automating the configuration of a device when it is first powered on,
using DHCP and TFTP?

Options:
A- PnP
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B- iPXE
C- SNMP
D- ZTP

Answer:
D

Question 4
Question Type: MultipleChoice

An engineer stored source code in a Git repository and is ready to develop a new feature. The
production release is stored in the "master" branch. Which command create the new feature in a
separate branch called "feature" and check out the new version?

Options:
A- Option A
B- Option B
C- Option C
D- Option D

Answer:
C
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Question 5
Question Type: MultipleChoice

Refer to the exhibit.

Which ncclient method is used to collect the running configuration of a Cisco IOS XE device that
uses NETCONF?

Options:
A- config=m.copy_config(source='running')
B- config=m.get(source='running')
C- config=m.collect_config(source='running')
D- config=m.get_config(source='running')

Answer:
D

Question 6
Question Type: MultipleChoice

Which URI with the request body of Request body:

{''name'':''Test'',''organizationId'':,''type'':''appliance''} creates a new Meraki network called
''Test'', when using APIs?

Options:
A- PUT https://api.meraki.com/api/v0/organizations/<org_id>/networks
B- POST https://api.meraki.com/api/v0/networks
C- POST https://api.meraki.com/api/v0/organizations/<org_id>/networks/<net_id>
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D- POST https://api.meraki.com/api/v0/organizations/<org_id>/networks

Answer:
D

Question 7
Question Type: MultipleChoice

Which curl command is used to update the SNMP community of network ID ''1234567'' to read-
only?

Options:
A- Option A
B- Option B
C- Option C
D- Option D
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Answer:
B

Explanation:
:

PUT is used to update the snmp network ID. The access has to be community and not users.
Therefore, option B is correct.

Question 8
Question Type: DragDrop

Drag and drop the code snippers from the bottom onto the blanks in the code to subscribe to a
Cisco DNA event by using the intent API . Not all options used.
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Answer:
See the Answer in the Premium Version!

Question 9
Question Type: MultipleChoice

A network administrator must troubleshoot a network issue using Cisco DNA Center. Which API
request helps to determine issue details, impacted hosts, or suggested actions for the resolution?

Options:
A- /dna/intent/v1/issues
B- /dna/intent/api/v1/issues
C- /dna/intent/v1/issue-enrichment-details
D- /dna/api/v1/client-health/issues

Answer:
C

Question 10
Question Type: MultipleChoice

Refer to the exhibit.

Cisco SD-WAN deployment must be troubleshooted using vManage APIs. A call to vEdge
Hardware Health API returns the data in the exhibit (only a portion is shown). If this JSON is
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converted to a Python dictionary and assigned to the variable ''d'', how the status is accessed
that is indicated on line 16?

Options:
A- d[data][0][statusList][0][status]
B- d['data']['statusList']['status']
C- d{'data'}[0]{'statusList'}[0]{'status'}
D- d['data'][0]['statusList'][0]['status']

Answer:
D

Explanation:
:

The 0s in option AC and D are not logical in this scenario. The status tag already takes care of the
error message.

Question 11
Question Type: MultipleChoice

What are two characteristics of REST API calls? (Choose two.)

Options:
A- Unencrypted
B- Non-cacheable
C- Stateless
D- Implemented over http
E- Parameters passed in the headers

Answer:
B, C
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